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(1) ZEhfri (v) WMTEOEHIZED v = 10.0 %
(2)BEE3RE (m)
mi = Lol = 30.0 N/uf
1 [ — R S
100
XoT m= 300 N/uf
(3YyAkEAREW/C) m = -16.6 + 26.4 X C/W
W/C = 264 = (30.0 + 16.6) X 100 = 56.5 %
W/C =565 %
(4) BAKE (W) UTHOEEICEID W = 158 kg/m
(5YEMEARE(C) C =W = (W/C) X 100 = 158 = 56.5 X 100 = 280 keg/m
Cv=C + BE = 280 ~ 3.04 = 92 L/m
(6)z=RE(A) A = 45 % X 1000 = 45 L/nd
(7TYEMABME(G) YUIBOEZXID HIFHE = 0.690 m/m EEZE = 60.0 %
Gv = 0.690 X 1000 X 60.0 — 100 = 414 L/
Glv=Gv X 60.0 % = 248 L/m Gl= GIVXEEZEE = 248 X 2.71 = 672 keg/m
Glv = Gv X 40.0 % = 166 L/m Gl= GIWXELEE = 166 X 2.65 = 440 kg/md
(8) BALHIEMEZ(S) Sy = 1000 — W+Cv+Gv+A) = 1000 — 709 = 291 L/m
Slv = Sv X 40.0 % = 116 L/m Sl= SIVXEEEE = [16 X 2.76 = 320 ke/m
S% = Sv X 60.0 % = 175 L/m S9= SIXEHEE = [75 X 257 = 450 ke/ni
(9)HBH=E(s/a) s/a = Sv ~ (Gv+Sv) X 100 = 41.3 %
10 BMEFMFE (A Ad = C X HNE X BE = 280 X 1.0000 % X .00 = 2.80 kg/m
B2 & = kg/mi
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